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1| deisE fLIRTH 1,993,120,000
2| dviEE BRI B Th 236,550,000
3| dtiEaE NG 97,920,000
4 dvimE 7B h 391,400,000
5| dbimE E@Eh 89,170,000
6] dbifEE fIERH 200,000,000
7] dtiEaE [ Th 198,000,000
8| dtifEE Bt 140,000,000
9] dbimE 4ok th 5,000,000
10| deimE =RiRTh 85,000,000
11 deisE HET 34,650,000
12| dvimE i 23,000,000
13 deimE = /g 220,460,000
14] dbE@E HATTH 38,340,000
15 dbBE EER 16,810,000
16| dvimE = Al 6,300,000
17 dbBE sLAITH 146,000,000
18| dvimE F=ETH 7,600,000
19| dbimE BRI T 21,390,000
20| dbimaE T+ Rlth 18,500,000
21| dviEid 2EH 31,800,000
22 dtiEE =%t 6,300,000
23| dbiEiE REH 28,890,000
24  dbiEE FEh 145,000,000
25| JtiEE ETh 46,350,000
26 dbiEE )th 16,520,000
271 JdtiBE MENTTH 1,800,000
28 dtiEE ZE ) 17,640,000
29| dbimaE ERHH 21,260,000
30| dbifmaE EhlH 51,930,000
31|  dtiEE BEET 95,260,000
32| deimaE FEH 36,500,000
33| dviEiE ILEET 73,900,000
34 dtiEE A%h 75,000,000
35| dbifEaE dtith 68,940,000
36| dbifmaE SR 14,100,000
37| dtiEE HiEER 3,300,000
38 dtimE FARITET 5,000,000
39] dbimE 2 EHT 2,880,000
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#EFTIER X BT 4T o SR
40 dvigE A ET 4,210,000
41| deimE AR NHET 3,000,000
42 dbimiE R ET 35,300,000
43| dtiEE FEE SR HT 3,490,000
44 JbimiE FxHT 14,870,000
45| JdbiEE J\ZEHT 18,570,000
46 dbimiE KA ERET 4,460,000
47] dtiEE ST ZEHT 7,130,000
48 dbimiE  /EHET 4,250,000
49| dbimaE |2 R ERET 3,850,000
50, dbifEaE Z ERET 3,350,000
511 dbifmE B 5 BT 1,970,000
52 dvimE Sy 5,150,000
53| dbimE pc AN 6,500,000
54 dbimiE EH%H 840,000
55| dJbimaE FFERET 3,200,000
56 dtimE E N 3,920,000
57 dbimaE Btk AT 4,890,000
58] dbiEaE —+aHT 6,510,000
59| dbifBaE BIFH 2,400,000
60 dtimE BEEH 2,500,000
61] dJbifm.E =% Bl BT 1,700,000
62| dtimiE T A HT 3,150,000
63| dbimE B 0 % HT 21,000,000
64| dbifEE HFNET 6,920,000
65| dbimE = NHET 11,990,000
66 dJdtimE H=Eol 1,770,000
67| dtiEE A B A4 550,000
68| dtiEE TEFIHET 1,310,000
69| dbimE & FHT 2,500,000
70 dbimE {Z KRHT 4,000,000
71 dtiEE R 16,700,000
72| dtimE pieadllk Rl 1,180,000
73| deiEE 7 % T 7,600,000
74| dtimE Z=FFIIHT 4,540,000
75| dbiEE L&D HT 2,040,000
76] dtifEaE H{=HT 4,700,000
77| dbiEaE KIGHT 11,000,000
78] dtimE 2 LHT 12,140,000
79| dtifBaE 2Rl 2,400,000
80| dvifmE ;A EIHT 1,890,000
81| dbimE $1+E)IHT 8,000,000
82 dvimE bk 4-HT 2,340,000
83| dbimE Fk A2 I BT 2,270,000
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84| dtiEiE A 2,200,000
85| dtimiE Jt EHT 1,650,000
86 dJbimE 733 EH AT 2,800,000
87| dtiE & A5 T 8,880,000
88| duimE EXCE S0 13,860,000
89| dbimE =1 6,710,000
90| dbifmaE Lt #n BT 3,800,000
91| dbifBaE %2 3l HT 2,320,000
92| dbiEaE I ET 3,070,000
93] dbimE 5 )I| T 11,200,000
94| dtEE S HEET 9,000,000
95| dtiEE 'S B ¥PHT 14,300,000
96| dJbiEaE h = B ¥7HT 6,200,000
97] dbimE B = B E7HT 2,900,000
98| dbimE & 44 750,000
99| dtiEE FOZEHET 2,730,000
100 deifBE &I| Fd BT 2,740,000
101 deiE@E TJIET 3,410,000
102] dvimE EY 1l 3,200,000
103 dbifmE B REAT 700,000
104 JbimiE o J 1] BT 1,280,000
105 deiEE 52 o0 P T 1,280,000
106] dtiEE 12 £ ] 3,620,000
107 dbimE /N RT 3,170,000
108| dvifEE & HiJ HT 2,750,000
109 dtifmE J g BT 6,760,000
110 deifEE LU Bl A 960,000
111 dbfE 1= jl| BT 2,770,000
112 deimE X iGHT 2,390,000
113 dtiEE RILF 1,760,000
114] Jdvi@mE JETE Bl BT 3,350,000
115 deiEE ch i 1l BT 1,580,000
116] dJdeim&E B ERT 7,930,000
117 deisE 2= 3,550,000
118] dJdvim&E L3 HT 3,080,000
119] duiEE F| L HT 2,100,000
120 dvimE AR E 2,800,000
121 deisE 1158 SLE T 2,730,000
122] dvimE ES L] 24,030,000
123 deimE I BT 3,960,000
124] Jdvi@mE &1 B2 |y 12,130,000
125| duiEE ;5 BT 4,500,000
126 JbifEE N B IKHET 5,500,000
127 dtifE Ell|F AT BT 5,040,000
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128 dtiEE & P BT 2,810,000
129 deimE 1% = fE BT 4,570,000
130 dbfmE 1= B HT 23,000,000
131 deisE i I BT 8,260,000
132 dbifmE i _EHT 2,190,000
133 deimE E1 SR T 4,000,000
134| dtiEE 75 HL AR 4 810,000
135 dtiE@E i ECHT 4,900,000
136/ duiE@E KX ZE HT 9,200,000
137 dtifE =AY 3,600,000
138 JbifmE B ET 2,600,000
139 dbimE B ZHE 11,880,000
140 JbifmiE EEHT 5,420,000
141 deisE i[F] £ ;A HT 7,360,000
142 deimE % L HT 7,030,000
143  dtiE@E L H o HT 7,770,000
144| dbifgiE H = 8T 12,000,000
145 deiEE 3 By BT 4,800,000
146| dbifEE 17k M7 6,700,000
147 duiEE SFJA] T 14,300,000
148 dtimE FRALLET 4,200,000
149 JbifE Z Y B HT 5,040,000
150 JbifEiE FTO=HHET 25,830,000
151  JbifEE B T 60,000,000
152|  dtiEE 1 R ET 6,050,000
153 dtiE@E T iRET 5,900,000
154 dtimE EE B HT 5,470,000
155 dJbifEE 1 = BT 4,890,000
156 JbifE B 7K T 8,240,000
157 dbimE 2 == W] 23,030,000
158 dtimE AL 4,070,000
159 deimE CED 3,100,000
160 dJbifmE FA5HT 5,410,000
161]  dtifE.E [is FE BT 6,000,000
162 deimE = Al BT 33,450,000
163 dtiE@E th F ET 5,700,000
164 dbifgiE S LEHET 2,900,000
165 dbimE ZS Il BT 5,600,000
166 JbifEE T EHT 7,210,000
167 deimE [ 1l T 2,200,000
168 dbifgE S ISR BT 4,850,000
169 dJbifEE £l % BT 23,400,000
170 dtifEE |E R HT 9,900,000
171 deisE JE R T 6,200,000
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ERE T IR h X BT+t 254t R %E
172  dviBE BT 9,100,000
173 dtifE B F R AT 5,400,000
174 JbimiE BgEEN 2,600,000
175 dtifE =E:di) 6,400,000
176] dJdvimE R EET 17,000,000
177 deisE 22 HT 32,000,000
178] dvimE = EHT 5,750,000
179 deimE =Ll 5,670,000
180 =R = 1,135,290,000
181 EHE a&m™h 160,000,000
182| =HE Ehn 59,400,000
183] EHE SALGBT™ 60,000,000
184 BEIRIE ZE W 88,000,000
185 EHIE EATH 86,040,000
186] BEIHIE BT 11,500,000
187] ERE J 1| W5 T 8,000,000
188] TR I i BT 57,300,000
189] E=HE AR F0ET 45,000,000
190 =R R IERET 9,900,000
191 =HE N LD 9,570,000
192] BERIE JNES) 25,630,000
193] =HE ] = [T 12,500,000
194 REE KET™ 320,150,000
195| REKE Bir 184,190,000
196] RIEE tamh 170,190,000
197] ZWE et 178,890,000
198 XIEE A Eh 83,000,000
199 ZFKE “ETh 66,000,000
200 FHimIE BE BT 89,060,000
201  ZBE ES 51,740,000
202] RigE wiamh 78,360,000
203| ZEE HEAMET 46,500,000
204  F&iHIE =& 31,140,000
205]  HRE &k H 50,000,000
206] xE Lt 91,000,000
207 ZWE ¥ 112,000,000
208 FHimIE At 106,000,000
209  ZIE <IEh 330,000,000
210 FigE Y=Y 198,000,000
211 ZBE FEIE T 89,000,000
212  FWIE Bk 32,000,000
213 ZRE AT 92,960,000
214 Z®RWE EEXET 42,000,000
215 FHIKE AR ThH 66,000,000
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1 : HBEEE
ERE T IR h X BT+t o T
216] RIE TAFET 122,100,000
217]  ZRHE IRETH 65,000,000
218 FHWIE oG 39,270,000
219] RHEE [ AT HHISTH 48,350,000
220 FimIE )l th 49,900,000
221  RWE fRif 133,880,000
222] RIE AT 36,530,000
223 ZHBE t#& M 50,800,000
224 FIPE | DLKEH LT 75,820,000
225 HIHE INEETH 64,000,000
226| xEE =% 3k HT 35,350,000
227 HIBE Nin: ] 16,900,000
228| xE 35k BB M7 17,670,000
229 ZWE A 53,900,000
230 ®igE RFHT 12,950,000
231]  Z&WE EEA 16,650,000
232 ®EE Ba] R HT 52,800,000
233]  REE JA] AT 6,780,000
234 RIE J\TFAHHT 26,400,000
235  RIHE F EEHT 8,510,000
236 FTIMIE i) 32,160,000
237  &FBE FIAEET 13,700,000
238 WHEARE FEET 641,630,000
239 HARE FEIG 171,500,000
240 HFARE AT 187,000,000
241 HEARE £%5Hh 140,200,000
202 AR FE 8t 120,000,000
243 HARE EE 82,000,000
244 HEKRE /IMUTh 221,100,000
245 HHEARE B[ 111,090,000
246] WHARE KHEET 85,780,000
247 HARE iR 32,880,000
248  HREARE BEERT 153,070,000
249 HHEAKRE b 60,000,000
250 #EARE MBEE LT 25,740,000
251 HARE TEH 67,770,000
252 HEARE E=JIHT 42,900,000
253 HEARE 5 FHT 27,800,000
254 HREARE N 10,630,000
255 AR B T 14,000,000
256] #EARE =W 20,160,000
257 AR E 48,620,000
258] #HpARIE 55 KHET 30,000,000
250 IEARE 18 A HT 10,040,000
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28 T h X BT 4 254t R %E
260] HEARE =R RET 34,100,000
261 #HAKE AR ZE T 23,040,000
262] HFARE AR EA] ) || T 13,000,000
263| BEE SWV=Fh 1,479,820,000
264] BZEE JI[#Eth 401,160,000
265| ZEE REATH 220,000,000
266] BFEE JilOvh 706,800,000
267 BEFIR {THT™H 91,000,000
268] BZEE AT 76,000,000
269 BEE AR 391,120,000
270 BEFEE BREETh 87,000,000
271 BEE JnZEth 140,000,000
272 BEE AFETH 93,800,000
273 BEFER EX/NITNT 107,000,000
274] BEE ZHE ™ 270,000,000
275| BEE ¥E LT 162,380,000
276| {EE PET 60,140,000
277 BEE AR 136,450,000
278] BEE EAT 185,000,000
279 BEE FEH 275,000,000
280] BEE Ehnth 308,760,000
281 BEFER AT 408,500,000
282 BEE i 74,000,000
283 BEFER FHH 207,350,000
284 ZHEE AR 175,000,000
285 BEE SHES 208,000,000
286] BZEE EAtHh 95,000,000
287 BEER F0Jeth 120,000,000
288 BFEFE T 247,000,000
289 BEIE G 86,390,000
200 BEE A=tHh 178,840,000
291 BEFE P[0 73,150,000
292] BEE J\JATh 121,340,000
293 BEFEE =tRH 138,560,000
204 BZEFE = 182,710,000
295 BEFIE SEHETT 70,000,000
206] BHEFIE IRE ™ 127,160,000
297 BEFEE Z=Fh 54,000,000
208 BEIE gEre8mh 82,000,000
299 BEIE Hath 67,130,000
300 #B/EE S 102,880,000
301 BEE S CHETH 147,500,000
302] BEE =l 62,220,000
303] BEE FE 64,690,000
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ERE T IR h X BT+t 254t R %E
304] BHEE =5HT 48,900,000
305] BEE E=EN, 34,000,000
306] BEE 5 A HT 10,000,000
307 BEE &)1 BT 30,180,000
308] BZEE = L BT 18,000,000
309] BEFEE NI 25,690,000
310] BEE JI| BT 19,460,000
31| BEFRE = R HT 16,390,000
312 #BZBEFE JE LLI T 10,380,000
313] BEFE EEHHHET 9,280,000
314 BZBEFE e BRHT 9,310,000
315| BEFE =Eadi) 10,500,000
316] B/EFE KT 7,100,000
317] B{FE 11N EE BT HT 11,770,000
318] B{EE EX 3NN 1,850,000
319] BEE 5 B HT 13,500,000
320 BZFEE 41| BT 16,900,000
321 BEFEE BT 40,030,000
322] BEE & EHT 35,000,000
323] BEFEE =T 37,400,000
324] BEFE 2 PEHT 38,610,000
325| BEE R RHET 35,500,000
326 FEE FEmH 1,041,350,000
27| FEE #kFh 49,100,000
328 FEBH Gl 538,000,000
329] FEIE fotEth 731,720,000
330] FEBEH gl 57,400,000
31| FEE REET 193,440,000
332] FER WEH 544,130,000
333 FEIE ¥ HET 196,000,000
334] FEE ALn 97,000,000
335 FEE R H 171,090,000
336 FEE EE™ 187,750,000
337 FEE RET 66,000,000
338 FEBH JBth 80,000,000
339 FEE et o 204,320,000
340 FEE famh 480,950,000
41| FEE 5 T 12,310,000
342 FEE IR 327,600,000
343 FEIE e 308,300,000
344 FEBH J\FRH 248 500,000
345 FERE KBRFhH 140,660,000
346| FEE BE)Ih 34,650,000
347 FEER Bramh 130,040,000
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ERERTE X ET#Y 251 SR 2
348] FEE £EmH 78,720,000
349 FERE = 40,850,000
350 FEE SHAEh 175,300,000
/1 FEE m#EH 128,000,000
352 FEBE 4 ETh 88,000,000
353 FEBH J\#&ih 65,580,000
354 FEE Elfa 145,650,000
355 FEE =Ei&il 90,000,000
356 FEBEH = 59,030,000
357 FEE FET 31,390,000
358 FEE [T 40,960,000
359 FEE FEH 78,000,000
360 FEBH L= 53,700,000
361 FEE LNF A 32,500,000
362 FEBE KEBET 53,000,000
363 FERE 5B /2 FEHT 21,090,000
364 FEBEH K HT 18,500,000
365 FEE £ 5 T 5,690,000
366 FEBE Ea=1:] 13,080,000
367 FEE B EHT 13,930,000
368 FEBH N+ A EBHT 12,760,000
369 FERE = LLIET 7,490,000
370 FEBE (- Fapinil 25,000,000
37| FEE — = HT 14,950,000
372| FEBH B )R HT 6,880,000
3713] FEE RAEHN 13,880,000
374] FEE =l 10,600,000
375| FEE R ARHET 5,750,000
376] FEBH REH 6,160,000
377 FER KL EHT 7,150,000
378 FEBE it 1= BT 4,190,000
379] FEE SEEA T 6,000,000
380| EREFEAR FHREX 52,000,000
381 FREHAR hRX 127,910,000
382 EREAR EX 184,990,000
383| AR F1E X 211,700,000
384 FHHEER XEEX 150,710,000
385| EREI#R BHRX 170,360,000
386] EREAR =HX 258,080,000
387 AR ILTEHEX 510,000,000
388| E AR S JIX 357,000,000
389| HHIEAR HEX 174,000,000
390 AR KHRX 661,600,000
391 EREAR HEAAX 686,790,000
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EFFE 1 X BT 4 25 4 SR T A
392| AR EARX 147,000,000
393| ERFEAR h 7 X 260,000,000
394 EETER b X 439,870,000
395 EIEER EEX 216,000,000
396] ERIEHR X 306,200,000
397 EZAR =X 216,650,000
398 EHFEER RIEX 580,000,000
399 EEIEER BEX 726,000,000
400| IREER BILX 900,000,000
401 BIRER =inX 517,000,000
402 FIEER SIRJIX 806,410,000
403 EIRER INEFTh 592,910,000
404| EEER a7t 210,000,000
405 EFEFER R Eh 116,590,000
406 BIER —fEm 192,500,000
407| REEER St 150,340,000
408| FEIER [fi=atl 315,650,000
409 EIRER et 140,000,000
410 FERAR SRt 240,830,000
411  FEFEER BT EHTH 484,000,000
412 FHEER INEHTH 124,800,000
413] EHEAR INETH 223,010,000
414 FHEER HE 212,000,000
415 HETER E X IIG 168,840,000
416] FREER ElnFh 118,690,000
417]  EIRER Eizh 71,790,000
418| REAR f8E™ 60,500,000
419] FETER AT 81,570,000
420] FETEHR E PN 114,400,000
421  FEEFEER =t il 90,500,000
422 FETER HARE XM 135,000,000
423 FEFER KL 98,830,000
424| REER ZETh 165,540,000
425| RETEAR Fe T 113,070,000
426] FREER P 70,000,000
427] FRHAR HEDHEH 101,200,000
428 FEREER PR 250,000,000
429 EIRER Y 128 HT 38,500,000
430  FHIEER H®H T 25,000,000
431 HRER EER 1,340,000
432 FHERER B % EEHT 3,300,000
433 HIRER K EHT 9,040,000
434  FEREER FIEFT 160,000
435] EHEER HER 2,500,000
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EFFE 1 X BT 4 25 4 SR T A
436 FIEER fEEH 2,980,000
437 BHIRER =EH 2,040,000
438 AR S 620,000
439 EIRER J\CHT 8,200,000
440]  FETEHR L RA=Lil 90,000
441 FHEER INE R AT 5,000,000
442 IEEI1E I EB.th 446,660,000
143 IR BE KiEth 209,000,000
444  IEEI1E =G 113,000,000
445 IRBE %8Rt 130,000,000
446 IKEEIE Ealidl 114,400,000
147 K BE th;E)lth 98,640,000
448] BKBIE BT 23,000,000
449 IR BE g RTh 43,710,000
450 IKEEIE FHETH 91,280,000
451 IRBE BT 60,000,000
452 IEEIE ZEmEF 95,000,000
453 IKBEE T Th 69,550,000
454 IEEIE BIRIET 192,960,000
455 IR BE Al IBh 142,000,000
456 IKEEIE WWEH 28,620,000
457 IR BE HiET 90,000,000
458] RKEBIE FREETH 24,600,000
459 IREIE AETH 45,130,000
460 IKEEIE EETH 47,600,000
461 IKBE Tah 36,000,000
462 IKREIE EE™H 36,110,000
463 IKEBEE 5% e T 42,000,000
464 IKEEIE ZHART 28,840,000
465 IKBEE BEEZH 32,130,000
466 IKEIE AT 32,520,000
467 IKBE BE 4 [R T 6,330,000
468 IKEEIE £ 7 BT 23,410,000
469 IKBEE E@ZWET 13,960,000
470 IKEEIE zr/ \ |7 20,500,000
471 IR BE 1525 )| BT 21,700,000
472 IREIE K EFHT 29,920,000
473 IR BE ;th EH HT 29,820,000
474 IEEI1E [l 26,220,000
475 IR BE IR £51 BT 11,660,000
476 IKEEIE S SnET 8,300,000
477 K BE JII53 BT 13,200,000
478 IEEIE t =M 3,020,000
479 IKBE J\BEHT 11,000,000
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#EFTIER h X BT+t 251 SR 2
480 IKEEIE =ML 6,900,000
181 IKBE EA=DIIEE] 1,820,000
482 IKEEIE 1 = |7 22,500,000
483 IKBEE =M 2,300,000
484 FEME T 728,640,000
485 B[R JERATH 894,210,000
486| FRiIE BET 202,980,000
487 B[R ZEth 22,000,000
488| FRiIE =Bt 127,920,000
489 B[R EtXtET 176,000,000
490| EME FEH 63,900,000
491 BMEE ERlH 126,940,000
492|  FFMIE =t 330,000,000
493  FRMIE Bt 230,000,000
494|  FFRIE BT 180,000,000
495 B[R Hl 171,020,000
496 #RRE s 181,310,000
497 B4R Bz 35T 140,000,000
498 FEME RHEH 135,800,000
499 FRMIE THTH 23,000,000
500 E%fE EHTH 70,000,000
501 FRmE STETH 75,850,000
502| FHEE F=Emh 25,500,000
503 FRmE {E RIS 39,100,000
504| E%IE G 72,500,000
505 FRME FEDETH 57,770,000
506 EFfIE A 56,100,000
507 FRmME R{FEHT 8,890,000
508 EF[IE e 7,000,000
509| EFEIE (R = HT 7,400,000
510 E%[E NBL] 5,120,000
511 AR FE{F = HT 5,400,000
512 FHHEE K =g T 45,430,000
513 EEIE 5 7K BT 42,000,000
514 F&REE RRHET 63,000,000
515 FRME /J\IJJHT 22,670,000
516 FHlEE = HHET 41,620,000
517 AR JIHEZIKET 4,910,000
518] #%MIE FRHET 23,000,000
519] ZHE 2EET 2,381,190,000
520 =HNE =S h 503,500,000
521 ZHE I_Jlllzir'? 510,150,000
522| =HIIE — = 538,140,000
523| ZHE i ait] 159,740,000
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= HEIESE
ERE T IR 1 X BT 4 254t R %E
524 =ZHIIE F¥Hh 171,230,000
525 ZHIE HEBHHT 410,000,000
526] =HNIE G 252,650,000
527| ZHIE EETH 71,000,000
528| ExNE EEmh 104,500,000
529 ZEHIE XA 200,000,000
530 Z=HIIE 2 Hh 564,300,000
531 ZHE =i h 265,000,000
532| =HIE mEM 243,000,000
533 ZEHE SEARTH 97,450,000
534 =ZHIE NI 91,510,000
535| ZEHE =t 88,000,000
536] =HNIE ;LE ™ 128,740,000
537| ZEHE N TR 197,660,000
538] ExNE fidRh 180,000,000
539| EHE g h 47,690,000
540 ZHIE BEth 165,000,000
541 ZHE NG 135,000,000
542| ZHIE MZh 114,550,000
543| ZEHIE Kirth 105,050,000
544| =ZHIE EsRNETH 104,370,000
545| ZHIE Shni 80,300,000
546 =HIE SETH 60,000,000
547 ZHE EX:n 88,460,000
548| ZEHIE BEth 138,480,000
549 ZEHIE AR 80,520,000
550 Z=HNE Al 73,120,000
551 ZHE JBZATh 103,400,000
552 ZExNE tEZ2aEH 122,250,000
553 ZEHIE P& 62,700,000
554| =ZHIE ALL 88,280,000
555 ZHIE HEMH 125,510,000
556 =HNE EAFH 92,030,000
557| ZEHIE B 4ERET 70,000,000
558 ZExNE AL 25,700,000
559| ZHE X CIHT 37,000,000
560 =HNE Tk R HT 47,300,000
561 ZHE XaHlT 56,000,000
562 =HIE B2 THT 45,000,000
563 ZHIE B+ 6,880,000
564 =ZHIE Ba] A LB BT 47,110,000
565 ZHIE BT 60,700,000
566] ZExNE A 0 2 BT 17,000,000
567| ZHE 3 EHT 25,270,000
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MERFE | EXETH I
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= ﬁﬂ]lﬂa itg )LN'IJQIE&E
569 =&IE = mA 5.900.000
570] =ZNE =0 2T F 186000
571] =405 FE30] 220,000
FARE LI YL, 70,000
573] ==& = 371 g;g,goo
574 =B TR 230000
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